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QUESTION 1

Which is an objective of access management?

A. To efficiently respond to requests for granting access to services

B. To detect changes of state that have significance for management of an IT service
C. To assist with general information, complaints or comments

D. To minimize the impact of incidents that cannot be prevented

Correct Answer: A

QUESTION 2

Which one of the following provides the CORRECT list of processes within the service operation stage of the service
lifecycle?

A. Event management, incident management, problem management, request fulfilment, and access management
B. Event management, incident management, change management, and access management

C. Incident management, problem management, service desk, request fulfilment, and event management

D. Incident management, service desk, request fulfilment, access management, and event management

Correct Answer: A

QUESTION 3

Which describes an interface of incident management with service level management?
A. Incident workarounds

B. Creating a problem record

C. Incident response times

D. The status of faulty Cis

Correct Answer: C

QUESTION 4
Which one of the following is it the responsibility of supplier management to negotiate and agree?

A. Service level agreements (SLAS)
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B. Third-party contracts
C. The service portfolio
D. Operational level agreements (OLAS)

Correct Answer: B

QUESTION 5

Which of these statements about resources and capabilities is CORRECT?
A. Resources are types of service asset and capabilities are not

B. Resources and capabilities are both types of service asset

C. Capabilities are types of service asset and resources are not

D. Neither capabilities nor resources are types of service asset

Correct Answer: B
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